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N = 0 At 2 4 A
2018 &= 20l & LB H HZ S
S 2H
HE: (Y 29
CHel: 2 AFE A (2 &HH)
. SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2ot 357,144 321,306 35,838
A 249 306,889 280,091 26,798
2 A2t 306,889 280,091 26,798
ARESFO=2AAA(HAH) 56,500 56,700 A 200
401 Al HI L 2Tl 56,500 56,700 £200
01 Al& H| 56,500 56,700 A 200
OARZFOSEAY 50,000
APDFEOUSAAY (FUH SR AL) 6,500
esgdHiled (tHad) 10,154 6,669 3,485
301 LBt A= 10,154 6,669 3,485
04 AIsHHMHAH XS 10,154 6,669 3,485
O Ofaly| 4 000) x2H x365L 2,920
O Xb&kd] 3,000
O &8J12 6,000 x12& 72
O ¢d=Hl 392,000 =104 & 392
O =422 8K 150
O Xs2Hed 29| 500
O Asted o=l 130,000 »24H 3,120
selerne(Hae) 81,020 81,020 0
301 LBt A= 81,020 81,020 0
05 S& -0 - tEEsEAS 81,020 81,020 0
O 0l& DI 200,0002 x24H x12& 57,600
O 0l& &= 200,000 24X *200% 9,600
O 0| &3l o &AL 20,000 24X x 128 23| 11,520
O BHE& Haz 25,000 *46H x23| 2,300
ATSHAIK R (CHASH) 14,260 4,260 10,000
201 L2 | 10,000 0 10,000
03 HAI2 G HI 10,000 0 10,000
OoHolo ¢ 10,000
301 LBt A= 4,260 4,260 0
09 SHAIAHI EAZ 3,260 3,260 0
OAHolEEU S 20,000 259 500
O=&H 20,000 x50 1,000
OJ|EFSH A} 800
OoH(BE) Mtz 40,000& 24 960
11 JIEtE A2 1,000 1,000 0
Osdexa 1,000
A2 (DA S) 144,955 121,442 23,513
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Sl HE Arg FR )
SA-ZH () - HRAY - BES Hns2Z
101 14 Hl 15,225 11,412 3,813
04 JIZHHZ22XREES 15,225 11,412 3,813
O T2H JI2F 66,6303 x 15 83| 7,996
OgIAAY 22 60,2403 x60 «2H 7,229
201 LBt | 32,880 31,680 1,200
01 At 22l 18,380 17,180 1,200
Oget==EH| 13,000
Oz &l 1,680
o227 ¢ U= 2,500
OFAMSRAH 100,000 10 A+ 123 1,200
02 =24l 14,500 14,500 0
OBB22LHA 5,000
Ozl 4,000
OA& & Hl s Xl 2,000
O Xt&tl 3,500
206 TH 2 bl 7,750 7,750 0
01 =8l 7,750 7,750 0
OzARA 22X Y 500
OgdLrs RFUI(ZER) 1,300& *5,0004 6,500
ogdALrs RFH(ALSR 1,500& *500£ 750
401 AlEHI L2 0hYI 80,000 50,000 30,000
01 A& Bl 80,000 50,000 30,000
OH EA 2l22Y 80,000,000 =14l 80,000
405 XtAHE S| 9,100 19,400 10,300
01 AL EZFH S 9,100 19,400 A 10,300
Od=&3I ¢ 1,500, 0002 = 1CH 1,500
OHaEd ¢ 1,000, 0002 = 1CH 1,000
O&BA X+ 30,0002 = 100CH 3,000
OAMEH HdE3DI 2 60,000& = 10CH 600
O=s%4E88 U (MZANE) 3,000
HF2F A 50,255 41,215 9,040
Jl2dd () 50,255 41,215 9,040
Jl2du(zd) 50,255 41,215 9,040
201 Yet2 | 2,975 2,975 0
01 At 22l 2,975 2,975 0
O 524 W22 25,0002 119 2,975
202 o4dl 37,200 28,200 9,000
01 = LH o4 1l 1,200 1,200 0
O 2UWdAH 1,200
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